NOTE: ALL DIMENSIONS HAVE £0.015 TOLERANCE
UNLESS OTHERWISE SPECIFIED

IMPACT RESISTANT POLYSTYRENE (UL94-HB)
FINISH:  DOUBLE-TEXTURED PC BONE GRAY

PC-11406 & PC-11408 SUPPLIED WITH TWD @) #6 x 1.730" LG. SCREWS & FOUR (4) RUBBER FEET FOR ASSEMBLY
PC-11410 & PC-11412 SUPPLIED WITH TwWO (@) #6 x 2.300” LG, SCREWS & FOUR (4) RUBBER FEET FOR ASSEMBLY,
PC-11414 & PC-11416 SUPPLIED WITH TWO (@) #6 x 3.230" LG, SCREWS & FOUR (4) RUBBER FEET FOR ASSEMBLY.

MATERIAL:

NOTE: MOUNTING BOSSES USE EITHER M2 METRIC OR #4 STD., SHEET METAL SCREWS x 0.230" LG

¥ — NUT RETAINERS NOT INCLUDED IN THE BASES OF UNITS MARKED WITH ASTERICKS

Ane PLASTICASE o PC-11406 TO PC-11416
0.281 DIA, BOSS
WITH 0091 DIA, HOLE
(18) PLACES
A = [ EEEEE: =k [E=====f===3====c]
“ [ I _ | I B _
EZZSS3FESSS23 EZSSZSSSFESSSES
G i T R [
| - | E{ I Y (1 |
‘«— 0.192 | | | 11k |
2,000 T I 1 -
i ‘ X 7 X
e | 1] 1 ,|5 E|.z E §|
f N\, L |
W e 0065 WIDE & i
- 0.071 HIGH REF, |
‘ 0,047 | 0.079
® ® 5 r $ ] [ ] [
1160 F ] i 0.456 0.600 ¢ , , :
! y: 2 ﬁ $  — R—  —" S R—
0293 JA f o v
0450 . STYLE “A STYLE "B
0560 —=—| |=———F ————=
— B —
0.062 R
¢ (4) PLACES TYP.
FHL —— (I ’I————LJ—| I - = -~ - = - =
[
t f Il 1260 f [t
[
A C BH D L PANEL- 0,090 THICK | EXPOSED
NI PANEL
l ¢ I ¢ *
[
L : — ——— ] | - - — -
0125 J 0275 JA - P
STYLE “p’
— M —
’ H F——— L | 7————LJ—| I - - - - = - =
V I r T
L 3 | |
E— = | | N
A C NE D = & L PANEL- 0,090 THICK EXPOSED
F_ Ff | | PANEL
| I
? || L1260 ¢
Al 1 ———T 1] | - — - — - — - —
0.125 J 0.275 JA *
STYLE "B’

(NOT SUPPLIED),

PART No. |STYLE| A B C D E F G H J K L M N P
¥ PC-11406 | A | 2920 | 6120 | 2270 | 1970 | -—— | 3000 | 5280 | 5.770 | 2180 | 0.880 | 2310 | 5,730 | 2.180 | 5,630
PC-11408 | A 2520 | 8100 | 2270 | 1970 | --- | 6980 | 7260 | 7/./30 | 3120 | 0930 | 2310 | 7,730 | 2180 | 7.630
x PC-11410 | B | 3300 | 6120 | 3.050 | 2750 | 2.040 | 2.000 | 5280 | 5./70 | 2180 | 0.880 | 3.080 | 5.790 | 2930 | 5,690
PC-11412 | B | 3300 | 8100 | 3.050 | 2./90 | 2.040 | 6980 | 7.60 | 7,790 | 3120 | 0930 | 3.080 | 7,750 | 2930 | /7.630
* PC-11414 | B | 4040 | 6120 | 3,790 | 3490 | 2780 | 3.000 | 5.280 | 5./70 | 2180 | 0880 | 3.830 | 5,730 | 3,680 | 3.630
PC-11416 | B | 4040 | 8100 | 3.790 | 3.490 | 2.780 | 6980 | 7.260 | 7.730 | 3120 | 0930 | 3.830 | 7.750 | 3.680 | 7.630




